Math 182 Chapter 5 Thing Name:

17 Jan 2017 Show Appropriate Work Scaled to 10 points.

My hope is that you can finish this in class working in small groups. If you do not, please finish it and
hand it in on Thursday. You may use the Math Learning Center.
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3. Given that / I _:;2 = arctanx + C, show that for a > 0, / PR -:—L’U,Q == arctan (g) +C.

This general form will come up regularly this semester.
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4. Use the integration formula you derived above to integrate the following.
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5. We have seen only a small sample of possible substitutions so far. Integrate the following by
starting with the substitution u? = 22 — 1. [HiNT: u? = u? + 0, write 0 in a useful way.]
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